
二次方程式　すべて　1
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を解け。

⑩ 5x5x2 + 3x3x − 2 = 0

x =
−3 ! 32 − 4 % 5 % (−2)

2 % 5
=
−3 ! 9 + 4040

1010

=
−3 ! 4949

1010
=
−3 ! 7
1010

x =
4
1010

,−
1010

1010
x =

2
5
. − 1

⑨ x2 + 8x8x + 5 = 0

x =
−8 ! 82 − 4 % 1 % 5

2 % 1
=
−8 ! 6464 − 2020

2

=
−8 ! 4444

2
=
−8 ! 2 1111

2

= −4 ! 1111

⑧ 3x3x2 − 9x9x + 2 = 0

x =
−(−9) ! (−9)2 − 4 % 3 % 2

2 % 3

=
9 ! 8181 − 2424

6
=

9 ! 5757

6

⑦ x2 + 5x5x + 2 = 0

x =
−5 ! 52 − 4 % 1 % 2

2 % 1

=
−5 ! 2525 − 8

2
=
−5 ! 1717

2

⑥ x2 − x − 7272 = 0

(x + 8)(x − 9) = 0

x = −8, 9

⑤ x2 − 3636 = 0

(x + 6)(x − 6) = 0

x = !6

④ x2 − 3x3x − 1818 = 0

(x − 6)(x + 3) = 0

x = 6,−3

③ x2 − 8x8x + 1616 = 0

(x − 4)2 = 0

x = 4

② (x − 2)2 = 7

x − 2 = ! 7

x = 2 ! 7

① 3x3x2 = 2727

x2 = 9

x = !3

＜　　　年   月   日＞

二次方程式　すべて　2
３年　　組　　番・氏名　　　　　　　　　　　　

◆次の二次方程式を解け。

⑩ 6x6x2 + x − 2 = 0

x =
−1 ! 12 − 4 % 6 % (−2)

2 % 6
=
−1 ! 1 + 4848

1212

=
−1 ! 4949

1212
=
−1 ! 7
1212

x =
6
1212

,−
8
1212

x =
1
2
,−

2
3

⑨ x2 + 4x4x − 3 = 0

x =
−4 ! 42 − 4 % 1 % (−3)

2 % 1
=
−4 ! 1616 + 1212

2

=
−4 ! 2828

2
=
−4 ! 2 7

2

= −2 ! 7

⑧ 2x2x2 + 5x5x − 1 = 0

x =
−5 ! 52 − 4 % 2 % (−1)

2 % 2

=
−5 ! 2525 + 8

4
=
−5 ! 3333

4

⑦ x2 − 3x3x − 2 = 0

x =
−(−3) ! (−3)2 − 4 % 1 % (−2)

2 % 1

=
3 ! 9 + 8

2
=

3 ! 1717

2

⑥ x2 − 9x9x + 2020 = 0

(x − 4)(x − 5) = 0

x = 4, 5

⑤ x2 − 2525 = 0

(x + 5)(x − 5) = 0

x = !5

④ x2 + 18x18x18x + 8181 = 0

(x + 9)2 = 0

x = −9

③ x2 − 4x4x − 4545 = 0

(x − 9)(x + 5) = 0

x = 9,−5

② (x + 3)2 = 2525

x + 3 = !5

x = −3 ! 5

x = 2,−8

① 2x2x2 − 3232 = 0

2x2x2 = 3232

x2 = 1616

x = !4

＜　　　年   月   日＞


